lﬂﬁ.l '-J§ ‘cosec‘20° ~sec 20° AR FE ? ,
@ 1/4
by 4
@ e

(d) 1

107. 5 arRoe W X @ Sibwar §oq, . S X

& mRIwat p, 3R p, 3G €, A far T
&
X P(X)
1 k
- N
3 e
4 Py
I

_ mmﬁﬁmﬁﬁm@né'%ﬂxizho-%
qa P(X = 4)=0-35.

Prefifas st ® R Sise -
1. Plépg

2. py+p,=PX=23)

FoRfefan weel % & o W wd &8 2
a1

&I 2

(c) 13K 28

@ JId1dIRaIE2

" (a)

(b)

Q-0OEBA-K-NBU
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108, o @O A, B, C WARR AT A& @
sinA+2sinB+sinC STAA®IE ?

{a) 4sin B cos> (%C-]

(b) 4 sin B cos® [%)

(¢} 4 sin (2B) cos® (%ﬂg)

() 4 sin (2B) cos? (A%C)

109. #yFl: TR -1<x<0, @ ,
cos (sin™! x) = — \/l—xz -
wowll: AR —1<x<0, @

sin (cos™! x) = \/1—x2 ,

frafafas & & @ o ve, TRfeReg & &
g w8 ?

CEIG I sk 11 Wﬂ'&r%aﬁz
o 11, a9 1 & wer e €

(a)

(). i F 1 3R I wWaad S & o

P I, T 18 Wl w98 @
(¢) T 198 2 foog o 1 3ry &

(d) o 13w § g oo I 68 2
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110. StatementI: y = — tan™ ' (x1) + 1
: increasing function of x.

Statement 1I : dg is positive for all values of x.

Which one of the following is correct in
respect of the above statements ? -

(a) Both statements I and II  are
independently correct and statement II
is the correct explanation of

*

statement I

(b) Both statements 1 and II are
independently correct but statement II
1s not the correct explanation of
statement I

(c) rStatemenL I is correct but statement 11|

1s false

: (d) Statement I is false but statement II is
” correct

111. statements in

—2x—2y:0

Consider the fo_llowing
respect of circles x* + y2
and x% + y%2 = 1 :

1.  The radius of the first circle is twice that
of the second circle.

2.  Both the circles pass through the origin.

Which of the sLatements gwen above is/are

correct ?
(a) 1 only
(b) 2 only

(¢} Both1and 2

{(d) Neither 1 nor 2

Q-OEBA-K-NBU

is an.

112. Leta, b, c be in AP, e

Consider the following stateménts :

1 1 — arein AP.
ab’ ca’ bc

g9 .1 L . aréinAP
 Tords” Erl T4k '

Which of the statements gwen above is/are

correct ?
(a) 1 only
(b) 2 only

{(c) Both1and?2

(d) Neither 1 nor 2 |

113. What is the differentiation of 1 ogxx w1th

respect to In x ?

(a) O
- 1

(@ 1/x
W@ x

114. What is tan (7% ) equal to ?

@ VB + V3 -2 +2
) . 6 + 3 +42 +2
© J6 -3 +42 -2

@ V6 + V3 +4J2 -2
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110, ®F1;: y=-tan i)+ 1, x & 06 IEAT 112,

1L Cill x2+y2—2x—2y=0‘£3ﬂ1 x2+.y2=1 &
fowar 4 Frafefee sl w R difow - ‘

el xR AR S R % TS ¥ |

(a) a2 w1 3R II.aaﬁaafﬂé’réam

Soikfrfa ol 3 ¥ B i w4 2

B & |

frefefed & & #f9 o s, 3wRRea &= &
g diwE@ & »? “

WII,WIﬁﬂ?rm%

b W wmE I R I Wﬂ'@f%%ﬁ
o 11, oo 1 3 T e T8 ©

(c) asaqm'e"r%‘ﬁﬁmnm%'

d) oo 1 3raed & fog ®u 11 w8

1. mqaa%%mﬁqaa%‘r.ﬁma%gﬁ
g

2. GFi g Yeeg W ERA € | |14,

(a) el 1

(b) w2

© 13k 23

(d adiaRIde
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113,

Wﬁ%ﬁ%a,b,cwﬁﬂﬂ'ﬁgl

ﬁmfﬁﬁa?rmmﬁaﬂﬁ%u

1o, L L g

-r;g’ ca’ be

1 1 1
b+de’ Jerda' Jarib,

TR AT A |

2.

Rfoiem et 4 % 7w w2
(a)‘éﬁal

(b) I 2

(e 13ﬂ1:2aﬁ=ﬁ

(d) :r?hlsi'ﬂq?rz

In x % e log, x &1 HadeH &1 & ?
(a)“o

by 1

(e} 1/x

(d)‘ X

tan.['?%o) I,Eﬁl T T E 2
@ J8 + V3 -2 +2
B J6 + V3 + 2 +2
© V6 -3 + 42 -2

@ J6 + V3 + 2 =2




? 118, What is the angle between the diagonal of

one of the faces of the cube and the
diagonal of the cube intersecting the

cos 15° + cos 45°
.cos® 15° + c053 45°

115. What is the value of

(a) A -diagonal of the face of the cube ?
z ‘
. (@) cos™' (1/43)
(b) 3
(b) cos ! (2/43)
. :
© 3 {0 cosTh(¥2/3)
(d) Nor_xe of the above : (d) cos™! (\/5/3)
Directions : For the next 3 (three) questions to - - .
follow : 119. Let a and b be two unit vectors and o be
—
The vertices of a cube are (0, 0, 0), (2, 0, 0), the angle between them. If (3 + b ) is also
(0,2,0),(0,0,92), (2,2 0, (2,0, 2), (0, 2, 2, the unit vector, then what is the value of o ?
{2, 2, 2) respectively. : :
@ =
; 4
116. What is the angle between any two diagonals
of the cube ? 'T[
ol : (b) E
' C(a) cos!(1/2)
) cosT (/3 . o =
(c) cos*(1/43)
7t
d Bl
(d) Z

(d) cos™t(2/V3)

117. What is the -angle between one of the edges of 120, What 1? the walue of :
the cube and the diagonal of the cube (0-101)(211]2 + (0.011)‘2“]2

b ] _ 3
; ; = _
intersecting the edge of the cube * (0.101)(210)2 _ (0.101);[11)2 (0_011)(201)2 N (0_011)(210)2

(a) cog™t(1/2) - _ -
. (@) (0-001),

(b) cos™t (1/3)

(b)  (001),
(©) cos (1/43)- © (01
. | |
(d) cos™ (2/V3) : d) (1,

Q-OEBA-K-NBU ) { 34 - A)




115.

, cos 15° + cos 45°

(o)

3 3 P A FATE ?
cos” 15° + cos® 45° .

1.
(a) 7 .

1
(b) =
1

(@ TRRRE § ¥ B =

%:m3(ﬂ}q}m$%:

116.

&&= g7 & 99 ®mer (0, 0, 0), (2, 0, 0), (0, 2, 0),
(0,0,2),(2,2,0),(2,0,2),0,2,2),(2,2 2¢ !

T A sdumooan g ?

118.

119.

(a)

(b)

(c)

C )

117.

Q-OEBA-K-NBU

{a)

" (b}

{c)

()

cos™ (1/2)
cos™* (1/3)
cos™t (1/ J3)

cos™! (2/J§) -

cos™} (1/2)
cos ™t (1/3)
cos™! (1/J§)

cos™! (2/J§ )

(35 - A)

120.

T ¥ 05 Ted ¥ Rt qur o9 % ued ¥ el

(@ cos™! (1/4/3)
cos'l_ (2/J§)

cos ™t (V2/3)

(b)
(c)

(d) cos_l (\/5/3)

7 e f5 3 3k b @ wmw whw € Wk o
6 @ & B R | 9k (3 + b) A
WL Ao AT E

T

(a) T
(b) %
(e) %7‘
(d) g
(0101, 2 + (001D "2
(020052 — 020052 (o1DY 2 + 011102

& AE TR ?

(a) (0-001),

(b) (0-01),
(c) (01),

@ (1),
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SPACE FOR ROUGH WORK
e B & fae s
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SPACE FOR ROUGH WORK
T B & o s
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SPACE FOR ROUGH WORK
e oM & foe SR
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. SPACE FOR ROUGH WORK
T S & foe sTE
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2. FR-ES ¥ W W W et gRAET S A, B, C A1 D geRRefy e w9 J peey S |
3 e gRas W G ¥ R T Siss s s ’ E '
Ieaies fore @ | wen gRaer W gk o 7 ford |
4. 5w whem QRaw ¥ 120 swie (v Re e # e weie R ik sl o su ¥ | i wew A
TR FGTR (FR) R e & | g vw TR B g o oy 3 I W aifed e ued € | af
T v A B oE A e wegek wd ¥ A 39 yegeR @ sifea B S anue Wik Al | ves
sgrer % fore et 0w # wegeR g R . o
5. o S T SRR e | e M Fwe | & sifed 7 § | IR # e e e e )
. ol e % ST wEE E ' ,
7. T oed 5 omy odemr gRem B R g & TR IR-0E R HfET BRAT I W, 0B 5
T & e A SR & IR o AeRm SR me A A E |
8. 3T 3 T HRIER B FR-UAG MR & SIC o e & WA R g IeR-95F AN B 4
& | amue |y e e & S B e |
9, o= oM ¥ e me wew gRaE $ s § wHwera € |
" 10, o IR & R avE - S
aegfrs wea-uat # sefiaar gt Re e e st & fore qvs féan sme '
&) T e S R Or dehes TR # | siEER R aes weE & o Re e vw o o & fre
797 & o fpe e 3@t @ ves-forers (0-33) 2vs & w9 A dieT SE | '
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Note : English version of the instructions is printed on the front cover of this Booklet.




